
1

Quadratic Functions
y = ax2 + bx + c

where "a" and "b" are coefficients and "c" is a constant

•   There are 3 forms of a quadratic equation...

where "a" is the vertical stretch factor
"h" is the horizontal translation
"k" is the vertical translation

Mapping Notation - a notation that describes how a graph and its  
                                 image are related.
For Quadratic Functions...

 (x, y)  ⇒  (x + h, ay + k)
Where the first point from the graph y = x2 maps onto a point in the image graph.

•   The functions is said to have a degree of 2 (highest exponent)
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Properties of a Quadratic

ex:  
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y = a (x ­ h)2 + k
Transformations of the Quadratic 
Function in Standard Form
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HOMEWORK...
Worksheet ­ Transformations of the Quadratic.doc

Worksheet Solns ­ Transformations Sheet 1.doc

Worksheet Solns ­ Transformations Sheet 2.doc
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| For each of the following quadratics written in general form, state the direction of opening,

vertical stretch and y — intercept.
a) y=5x*+2x-3 b) y=2x-5x+1 ¢) y=-2x'+4

f) y=-dx-5

d) y=—r B) y=3xz+2x+%

2 For each of the following quadratics written in standard form, state the direction of
opening, vertical stretch, vertex, equation of the axis of symmetry, maximum or minimum
value and range. Also, make a rough sketch for each.

a) y=2(x+17+3 b) y=3(x-1)+8 o) y=—x+2)?

&) y=G-7" &) y=—08(x-5"+16 ) y=-5-3"

3. For each of the following quadratics written in transformational form, state the direction
vertical stretch, vertex, equation of the axis of symmetry, maximum of minimum

of opening,

valus and sange. Also, make a rough sketch for cach.

a) (-2 =(+3P b) <+ =) o) 4y-9=G+D?
& Ly=G-ay ) 2o+’ £ -30-D=5

?

. ‘4. Match each of the following equations and graphs.

a) y=20+1? b) y=—(x-37+2 ) G-2=G+D’
d) 2y-n=5 e) —(y»+3)=(x-1)2 0 y=-2x+3'-2
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[image: image2.jpg]GENERAL FORM, STANDARD FORM & TRANSFORMATIONAL FORM
OF A QUADRATIC EQUATION (Sheet #2)
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~~ 1.For each of the following graphs of quadratics, write the domain, range, vertex, equation of ~ *
!3@ axis of symmetry and the maximum or minimum value.
4 o OHIHITH Shs
: t
st HE
i
L

2. The following quadratics are written in standard form. What transformations of the basic
y=x* graph have occurred in each case? Also, make a sketch to show these transformations.
a) y=2¢ b) y=-34 ) y=dr-1 d) y=(+2' - &) y=(x-1?

0 y=-2x+5" 8 y=(x+4-2 h) y=2z+8)"~1 i) y=—x-3y'+4

3. The following quadratics are written in transformational form. What transformations of the
basic y=xgraph have occurred in each case? Make a sketch to show these transformations.

a) -2 =@+’ b) (y+D)=(x-3* ¢) dy+)=(x-1)
&) -3749)=(x-6) ) -+6)=(x+4 0 -30+4= (=67
C Hlon-s ) 2+6)=5 i By=(e-37 D 2=y

4. Express in general form:  y=a’ +bx+c
a) y=3-1} b) y=2x+7  ©) y=-2x-3+1

&) 4y D=2 ) -Iy=G+5 8 Sp-9=7

d) y-2=(x+4)
h) %(y'&}):(x&l)’

) Zo-o=d ) -S+n=G+)f

5. Write in transformational form:  (y~£)=(c-#"

a) y=G-3 b) y=Gr+4)?-2 ©) y=2As-1'+6 d) y=3x-27

s

€) y=—4(x+27-3 f) y=22+1 g y:%#-s h) y=6(x+3)'-1
6. Write in standard form: y=a(x—h)+k
,a) y-4=(x+7 b) (y+3)=(-1) ¢)2y=(x-3 d) 4y=(x+2’ ¢ -3y=x
N Ay =(-2 ) rD =G B1e-3= D el i
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Worksheet ­ Transformations of the Quadratic.doc

Worksheet Solns ­ Transformations Sheet 1.doc

Worksheet Solns ­ Transformations Sheet 2.doc
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OF QUADRATIC FUNCTIONS (Sheet #1)

| For each of the following quadratics written in general form, state the direction of opening,

vertical stretch and y — intercept.
a) y=5x*+2x-3 b) y=2x-5x+1 ¢) y=-2x'+4

f) y=-dx-5

d) y=—r B) y=3xz+2x+%

2 For each of the following quadratics written in standard form, state the direction of
opening, vertical stretch, vertex, equation of the axis of symmetry, maximum or minimum
value and range. Also, make a rough sketch for each.

a) y=2(x+17+3 b) y=3(x-1)+8 o) y=—x+2)?

&) y=G-7" &) y=—08(x-5"+16 ) y=-5-3"

3. For each of the following quadratics written in transformational form, state the direction
vertical stretch, vertex, equation of the axis of symmetry, maximum of minimum

of opening,

valus and sange. Also, make a rough sketch for cach.

a) (-2 =(+3P b) <+ =) o) 4y-9=G+D?
& Ly=G-ay ) 2o+’ £ -30-D=5

?

. ‘4. Match each of the following equations and graphs.

a) y=20+1? b) y=—(x-37+2 ) G-2=G+D’
d) 2y-n=5 e) —(y»+3)=(x-1)2 0 y=-2x+3'-2
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~~ 1.For each of the following graphs of quadratics, write the domain, range, vertex, equation of ~ *
!3@ axis of symmetry and the maximum or minimum value.
4 o OHIHITH Shs
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2. The following quadratics are written in standard form. What transformations of the basic
y=x* graph have occurred in each case? Also, make a sketch to show these transformations.
a) y=2¢ b) y=-34 ) y=dr-1 d) y=(+2' - &) y=(x-1?

0 y=-2x+5" 8 y=(x+4-2 h) y=2z+8)"~1 i) y=—x-3y'+4

3. The following quadratics are written in transformational form. What transformations of the
basic y=xgraph have occurred in each case? Make a sketch to show these transformations.

a) -2 =@+’ b) (y+D)=(x-3* ¢) dy+)=(x-1)
&) -3749)=(x-6) ) -+6)=(x+4 0 -30+4= (=67
C Hlon-s ) 2+6)=5 i By=(e-37 D 2=y

4. Express in general form:  y=a’ +bx+c
a) y=3-1} b) y=2x+7  ©) y=-2x-3+1

&) 4y D=2 ) -Iy=G+5 8 Sp-9=7

d) y-2=(x+4)
h) %(y'&}):(x&l)’

) Zo-o=d ) -S+n=G+)f

5. Write in transformational form:  (y~£)=(c-#"

a) y=G-3 b) y=Gr+4)?-2 ©) y=2As-1'+6 d) y=3x-27

s

€) y=—4(x+27-3 f) y=22+1 g y:%#-s h) y=6(x+3)'-1
6. Write in standard form: y=a(x—h)+k
,a) y-4=(x+7 b) (y+3)=(-1) ¢)2y=(x-3 d) 4y=(x+2’ ¢ -3y=x
N Ay =(-2 ) rD =G B1e-3= D el i
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